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HBERELEREHERR

.| & AT Fa R (me. /L) C O D(mg/L)
COD T—N T—P 10 15 20 25 30 35

1 |FBAL 1.9 0.36 0.025
2 |HBHF L 238 0.37 0.040
3 | KRA L 44 0.39 0.025
4 | KINA L 3.0 0.63 0.021
5 [ATLS L 2.9 0.88 0.022
6 (FAF L 2.8 0.80 0.022
7 RIS L 34 0.67 0.032
8 |[ARBAL 3.1 0.56 0.020
9 [RWRF L 5.7 1.4 0.058
10 |Fh#imzo| 5.0 0.82 0.063
11 [FFeRi R 7.2 1.3 0.13
12 | B L 4.7 33 0.012
13 |‘’HA L 22 0.97 0.008
14 [BR)A L 4.2 0.48 0.030
15 |RiES L 55 0.60 0.024
16 |RihF L 46 0.39 0.017
17 [HES L 4.1 0.36 0.013
18 [FiRith 39 0.64 0.013
19 |/Migith 2.5 0.34 0.012
20 |&5li 3.6 0.27 0.014
21 |RfE i 35 - -
22 |FiEshET)| 4.6 0.42 0.015
23 |[RfTi 5.2 - -
24 \thEHM 8.1 - -
25 (At 42 0.42 0.014
26 |t 20 0.45 0.006
27 |FHith 12 1.1 0.069
28 |AXKith 24 1.7 0.13
29 || 13 1.6 0.10
30 (Bt 29 25 0.36
31 |RER 8.4 1.1 0.065
32 |Fit(@iam)| 6.7 0.66 0.035
33 |AFith 3.9 0.22 0.005
34 |t 6.6 0.45 0.032
35 |2 6.7 0.74 0.014
36 |#HER;th 7.9 1.1 0.049
37 |t 12 0.91 0.21
38 | =X =Rt 9.1 1.7 0.12
39 [{EEFith 8.7 0.68 0.059
40 (it 24 26 0.24
41 |ZRZEM 6.3 0.56 0.036
42 |Roi (TEHDF-HIEATE)
43 |t 9.0 0.64 0.045
44 |kEits 42 0.54 0.010




N | & AEfa R (me. L) C O D(mg/L)
cobD T—N T—P 10 15 20 25 30 35

45 |dLgeith 10 1.2 0.13
46 | Rt 9.2 0.84 0.059
47 | EIEYE 56 49 0.62
48 | Lith 7.7 0.51 0.042
49 |5t 16 - -
50 (& 11 1.1 0.1
51 |Ef&EFith 18 3.1 0.45
52 |FEX it 32 3.9 0.32
53 |&m it 7.3 0.77 0.048
54 |'&=ith 14 15 0.11
55 |[HHMt 9.1 0.63 0.076
56 |B§M 16 1.1 0.099
57 |ETith 21 4 0.41
58 |EH/ith 8.8 14 0.12
59 S &t 7.1 13 0.15
60 |gm@ES™| 11 14 0.12
61 |—D & 11 2.1 0.29
62 [{=th 17 1.9 0.34
63 1Lt 2.3 0.73 0.027
64 |ZfRith 6.7 1.4 0.070
65 |=FH ARt 5.1 0.38 0.019
66 |¥EZ A ith 7.7 0.44 0.016
67 |Hr 1Lt 5.0 0.23 0.020




